Comprehension —27
(PASSAGE)
Read the following passage carefully to answer these questions given below it.
 In Asia and much of the Third World, trees are still destroyed in the old-fashioned way: they are cut down for fuel and cropland. In Europe, there is new and potentially more deadly culprit. The Germans call it 'Waldsterben', the dying forest syndrome. But the disease is far more than a German phenomenon. Since it was first observed by German scientists in the autumn of 1980, the mysterious malady has raced across Europe, blighting woods in countries as far apart as Sweden and Italy.

 Explanations for the epidemic range from a cyclic change in the environment to a baffling form of tree cancer. But the most convincing evidence points to air pollution. Indeed, saving the rapidly eteriorating forests of Europe will probably require a two-pronged strategy: an offensive campaign that includes the breeding of pollution-immune trees and a defensive scheme that calls for reductions in toxic emissions. But both will require more money than is currently being spent on such measures, as well as total commitment to protecting the
environment.

1. According to this passage, which one of the following
    statements is correct?
    (a) There is less damage in Asia than in Europe
    (b) More forests are dying in Germany than anywhere
         else in Europe
    (c) A cyclic change in the environment is responsible
         for deforestation
    (d) Air pollution is the main culprit of destroying
         European forests

2. Saving the trees of European forests
    (a) Should not be difficult because of the advances in
         experimental research
    (b) Appears to be a hopeless task and therefore
         pointless to undertake
    (c) Requires a much bigger budget
    (d) Demands vigilance and punitive measures against
         those who cut down the trees

3. The dying forest syndrome is a disease that
   (a) Is peculiar to the forests of Asia
   (b) Has spread rapidly over the forests of Europe
   (c) Is confined to the forests of Germany
   (d) Has affected forests all over the world

4. The writer suggests that
   (a) It is no longer possible to grow trees in
        industrialised areas

   (b) Pollution-immune trees will absorb toxic emissions
   (c) All pollution-prone trees should be destroyed
   (d) It is not possible to grow trees that remain
        unaffected by pollution

5. The writer's approach towards the problem of forest
   devastation is one of
   (a) Tolerance
   (b) Indifference
   (c) Well thought-out strategy
   (d) Despondency
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Answers

	1
	D

	2
	C

	3
	B

	4
	D

	5
	C


